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QUESTION 1

Which two protocols are supported with an E-Series system? (Choose two.)
A.iSCSI

B. NFS

C.FC

D. SMB

Correct Answer: AB

Reference: https://community.netapp.com/t5/Tech-ONTAP-Articles/Everything-You-Always-Wanted-to-Know-about-E-
Series/ta-p/86476

QUESTION 2

You want to use the Cloud Manager solution to deploy Cloud Volumes ONTAP in your public cloud environment. In this
scenario, what Is deployed first to accomplish this task?

A. Active IQ Unified Manager
B. ONTAP System Manager
C. Connector

D. Acquisition Unit

Correct Answer: C

Reference: https://docs.netapp.com/us-en/occm/pdfs/sidebar/Get_started_with_Cloud_Manager.pdf (page 8)

QUESTION 3

You are setting up a new StorageGRID environment.

In this scenario, which two nodes would you deploy? (Choose two.)
A. storage node

B. admin node

C. management node

D. cluster node

Correct Answer: BD
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QUESTION 4

Which two solutions are natively supported with NetApp Virtual Desktop Service? (Choose two.)
A. Windows Virtual Desktop

B. Citrix Virtual Desktops Essentials

C. Remote Desktop Protocol

D. Amazon Workspaces

Correct Answer: BD

QUESTION 5

What provides dynamic storage orchestration services for Kubernetes workloads?
A. Ansible

B. SANTtricity OS

C. Trident

D. ONTAP software

Correct Answer: C

Reference: https://netapp.io/persistent-storage-provisioner-for-kubernetes/
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